=
o
of
W

HE TR B ARG B ff B HAAM &R S
AN 5 AEFEVER SR B X S F Mg AE 5 3655
FHHH 3% = 1 7,960, 000
B B = 1 4,636, 259
[ERECINLE & = 1 4,521,116
FA fEaT ¥ 1 126, 900 126, 900|451 5 Hi fli ¢
TR Hh s AT eSS0 1 135, 700 135, 700|522 BN 22
(B - ZRAK 3.5)
FEFI 2 e
A (497) 10, 000t 2.3 60, 140 138, 322| &5 35 Hiffh 5=
Chbih - ZRAK 2. 3)
FH g R
AR [ 10, 000t 3.4 154, 600 525, 640| Fi4 -2 Hifh 7
i - 24K 3. 4)
AT 10, 000t 3.5 260, 100 910, 350|552 Hif 3=
(B - A 3.5)
FH i3I
JFEIERL 1/500 10, 0001t 3.5 182, 100 637, 350|562 Hif =

o [ 5 HE A R




w i #
R TR TR B B WAL | SR HAif &H fii =
- %]
JH R B ek 1,/500 10,0000 | 3.5 87, 980 307, 930|457 53 Hi i
i
g 10, 0001t 3.5 59, 850 209, 475|438 5 Hifi %
(Bt - ZR4K 3.5)
e KB A T WS 1 47,500 47, 500|559 5 Bl %
fTat FRTEE 6 3 42, 650 127, 950| #5105 B i
R
e+ VNG ER 1 47,500 47, 50055115 Bl &
THIFHERAE (2RI
TERK L 25E) T4 0.2 86, 400 17, 280|512 5 Hiffi &
THIFERAE (B
Rk L D5EE) % 3.3 88, 830 293, 139|513 5 Hiffi
M (s (52)
IRAS AR A ) T 3.3 227, 600 751, 080|514 5 Bifli &
IR AER &
= Bt/ - km 0.4 612, 500 245, 000| 45 15 5 Hiffi
[ERESES 2 1 115,143

o [ 5 HE A R




S F5 B
HE TR B ARG 7 & HAh LKA B
Vi GGk = 1 24, 143|515 &=
B AR TER = 1 91, 000|&Eo=-NER =
M &2 - — i E A = 1 3,323, 741
R = 1 3,323, 741
FHHER A 5 375 = 1 9, 170, 000
SRS IEAM = 1 5, 962, 538
BB A = 1 3,989, 801
EEZYN G- = 1 3, 663, 394
FHHIFR A2
et et A TH B 1 81, 350 81, 350| 55 175 Bl &
A T [A] 4 81, 350 325, 400| 5185 Hiff

o [ 5 HE A R




e 5 *
FeH /AR R A H AL Kok HLfh G| i =
T HEh
Tat g T etk D2 S 71N £ 1 81, 350 81, 350| 55195 Hifli &
TEER I [(EFEE
DRGE 1ERR ES 1 44, 612 44, 612|420 5 Bl
BYEOTE B e 1 81, 350 81, 350| 45215 Hifli
AR D
WAEROFE  C 70 A i 1 103, 631 103, 6315522 - BifiZ
AL - FE
A pE i D
HEROTE D T 2 75, 351 150, 702| #5235 Wi ffie
W -
A pERR A D
FLAR FULFEAAT = 2 58, 622 117, 244|524 Hifli =
Bsr TR O
WARRORE LTI T 28 74,030| 2,072, 840|425 5 Hifli%
AL - FE
HHRZ OO
e BLHORE 5 1 26, 130 26, 130| 4526 53 Hiflli
HRICHTS
A ORLE EEA FHEPT 1 362, 380 362, 380|527 B HiAliF=
A - FE
FPEICHET 5
RERCHE A K 50t A< P 10 17, 608 176, 080| 4528 5 Hfi
AL - FE

o [ 5 HE A R




S F5 B
HE TR B ARG 7 B HAh &R B
BRELCOMD X O mEEIC
WA BT o0E  BEMR GIEcE-S 1 23, 438 23, 438| #5295 Hiffi
] ) R A A SR
HEBERE 8D 2D HER 1 16, 887 16, 887| %5305 Hifli 3=
B (B R = 1 326, 407
R = 1 266, 437|535 NRE
i G SUIE- = 1 69, 970| 4=y ER
& O 2 1 1,972, 737
Z DA = 1 1,972, 7137|585 NaRE
— R E B = 1 3,207, 462
— R 2V 1 3, 207, 462
SRS AR = 1 17, 130, 000

o [ 5 HE A R




S F5 B
HE TR B ARG 7 & HAh LKA S
THEr Bl 2 A 4 %A = 1 1,713,000
¥5E = 1 18, 843, 000
E i o & B D N f£S H

o [ 5 HE A R




Paivawd

ficFesgim . (H &)

o1 FHIRE
®m 5
E R i &

&

X
o

fii

24,143

551675 Hiffi

24,143

o ] 5 R A SR

\




RE BB TR (&)

®

m ol @ Rl 9 e W i | e | M @@ | s 1
= (B#F 4 H1)

FH R VEZEF e 126, 930 1. 00 126, 900 1 126, 900
T M A E 129, 300 1. 00 129, 300 1 129, 300
FERI) e
A (%) 10, 000t 59, 850 1.00 59,850 2.3 137, 655
FHHBE R
fRATER 10, 000t 143, 150 1.00 143,100 3.4 486, 540
g 10, 000nd 243, 100 1. 00 243,100 3.5 850, 850
FH I SEHI
JRIXIVERK: 1,500 10, 000t 170, 250 1.00 170,200 3.5 595, 700
FHHOE- 1 X
VERR 1,500 10, 000t 81, 850 1.00 81,850 3.5 286, 475
T HiFHE
YERL 10, 000t 59, 850 1.00 59,850 3.5 209, 475
ee G T £ 47, 500 1.00 47, 500 1 47,500
Haw PREHTA Y [&] 42,650 1. 00 42, 650 3 127, 950

e
Heaw EaPNIET s 47, 500 1.00 47, 500 1 47,500
THIFAERAN | ("I
YERK L B5E) & 85, 209 1.00 85,200 0.2 17, 040
THIEHERATX | (—ERE I
YERK L 58E) +-2 87, 526 1.00 87,520 3.3 288, 816

o [ i 5 e A R



5 FNRE B ARCRAERE (HHHE)
® .
} NV, ©) @) . @ [EREINE = ,
ol M 53] po) ¥ H AL S5 o HAR (O*@) . g W =
T E [ERETNES)
TRAT R HFRAE) +5 223, 384 1.00 223,300 3.3 736, 890
FHHUE R LR &
& Hhdh /S km 556, 830 1. 00 556,800 0.4 222,720
RN & i = 1 4,311, 311
EEA M (FH) 4311
UNERBLTEI D #5C) ’
B ERE (M) -
) T 91, 000|2. 3x°0. 44
(TR ) NN TGis)
B SERE (M)
EBR:170, 000 91, 000
FIR: 10, 000

o [ i 5 e A R



\

%3 TINRE MRHES ()

g ©) @) & FE .
(R3S MBHE & [EREINER ¢ 0. 070 3, 663, 394 256, 437
& 2 256, 437

o ] 5 R A SR




L)

5] i g |

B[ W & —_—
A 1 69, 970 69, 970|531 & i
& A 1 69, 970

o ] 5 R A SR

\




%5 wWNERE T Ot

moo @ A 9 B s @ O % 1
I— i [ERC PN OX{D1-M) 1=
FH H A 2
e A S TRE 81, 350

HAEYvwEk T A 325, 400
ek RPN R 81, 350
EXEGTH & E¥EFEE D
DRE YERL 44,612
O P B4 81, 350
ARIEREY D
WE MK OEE C 70 i A il 103, 631
A - BT
EFERR R D
A e O D 150, 702
A - BT
HEFERRAR D
FLFE RIS A 117, 244
B AR
A OEE ST TAEY 2,072, 840
A - BT
HEZOMOD
A B A 26, 130

r ] 5 R A R



#5 wWNERE T O

moo @ A 9 B s @ O % 1
- — T [EREINGEE ¢ OX{D/ (1-D) 1=
wEZOMD  |EEICETS
GRS WE K OEE HIHEA 362, 380

A - BT
BIEICET 5
A R OV =" 50 i A ity 176, 080
- BT
Z DOAtE R I
B 25 E PR A 23, 438
] REZTEES PE SR
HEBERE () D 16, 887
E 35% 3, 663, 394 1,972, 737
= § 1,972, 737

r ] 5 R A R



FITHMME  (EEEE W4 i AFISEE-1 (B HUR)
4 X2 o B [EREYNGE ¢ (e HH 24 Hiff S
S >
W& LA A [EXEINES ¢ 126, 930
) =B A A PR 2 0 126, 930 0
iR s ik A e 0 126, 930 0
=B A 1S 0 126, 930 0
R EAHEN B N i B PR 0 126, 930 0
<N
) & AT EL A A 0. 80 51, 000 40, 800
) =B AT A 1. 10 44, 000 48, 400
iR E ik i A 1.10 34, 300 37, 730
2B T A
T EAHB) B A
& @ 126, 930 g 126, 930
EBNE
(L)
I
fER
ZE AL F o+ 1 1.00 HALY 720 126, 930
HEHRME Y 126, 900

o ] 5 R A SR



w2 B BiHiESA W4 i AFISEE-1 (B HUR)
4 X2 o B [EREYNGE ¢ (e HH 24 Hiff S
S >
iR e 5] A 1.00 51, 000 51, 000 [ERCYN LR ¢ 129, 300
) =B A A 1.00 44, 000 44, 000 F AR AR 2 0.01 129, 300 1,293
TR L A4 A 1.00 34, 300 34, 300 Mk 0.04 129, 300 5,172
W&+ A W 0 129, 300 0
R EAHBN B A b egiibey 0 130, 593 0
<N
W& T A
bilREE53H]] A
iR E ik A
2B T A
TEAHB) B A
S 129, 300 g 135, 765
EBNE
PNGIE: P Tk i itk 2 ERTTUTAR oo R B | (E(kE)
0 0 0 0 3.5 0 Hirdgk 0. 00
fER
ZE AL F o+ 1 1. 00 HALY 720 135, 765
HEHRME Y 135, 700

o ] 5 R A SR



535 HAm R MEFI B feRdai A (4 47) Hiffi 67 2 ARG -1 (IR
4 X2 o B [EREYNGE ¢ (e HH 24 Hiff S
S >
W& LA A [EXEINES ¢ 59, 850
) =B A A PR 2 0. 005 59, 850 299
iR =S ik A 0.20 34, 300 6, 860 e 59, 850
=B A 0.20 32, 200 6, 440 1S 59, 850
BB A i A PR A 60, 149
<N
W& T A
B E LA A
iR =Sk A 0. 70 34, 300 24,010
HEBT A 0. 70 32, 200 22,540
TEAHB) B A
S 59, 850 g 60, 149
EBNE
PNGIE:ap: Tk i it 2, ERTTUTAR oo R B | (E(kE)
0 0 0 0 2.3 0 Hheg 0.00
R
ZE AL F o+ 1 1. 00 HALY 720 60, 149
HEHRME Y 60, 140

o ] 5 R A SR



FATHME BRI E W4 i AFISEE-1 (B HUR)
ZI i X2 o B [EREYNGE ¢ (e HH 24 Hiff S
S >
W& LA A [EXEINES ¢ 143, 150
k=< 534l A 0.80 44, 000 35, 200 B 2 0.03 143, 150 4,294
iR s ik A 0.80 34, 300 27, 440 Mk 0.05 143, 150 7,157
WEB)F A 0. 80 32, 200 25, 760 1S T 0 143, 150 0
EAHB) B A 0.80 27, 000 21, 600 i B PR 0 147, 444 0
<N
W& T A
) B AT A 0. 30 44, 000 13, 200
iR E ik A 0.30 34, 300 10, 290
il e A 0.30 32, 200 9, 660
A B A
S 143, 150 g 154, 601
EBNE
PNGIE: P Tk i it 2, ERTTUTAR oo R B | (E(kE)
0 0 0 0 3.4 0 Hheg 0.00
R
ZE AL F o+ 1 1. 00 HALY 720 154, 601
HEHRME Y 154, 600

o ] 5 R A SR



FHSHME mERE W4 i AFISEE-1 (B HUR)
4 X2 o B [EREYNGE ¢ (e HH 24 Hiff S
S >
W& LA A [EXEINES ¢ 243, 100
) =B A A PR 2 243, 100 0
iR s ik A e 243, 100 0
=B A WEEM 243, 100 0
R EAHEN B N i B PR 0. 07 243,100 17,017
<N
& T A
) B AT A 2.20 44, 000 96, 800
iR E ik i A 2.20 34, 300 75, 460
HEBT A 2.20 32, 200 70, 840
T EAHB) B A
S 243, 100 g 260, 117
EBNE
PNGIE: P Tk i itk 2 ERTTUTAR oo R B | (E(kE)
0 0 0 0 3.5 0 Hieg 0.00
fER
ZE AL F o+ 1 1. 00 HALY 720 260, 117
HEHRME Y 260, 100

o ] 5 R A SR



He MR R SERIRRE KR W4 i AFISEE-1 (B HUR)
4 X2 o B [EREYNGE ¢ (e HH 24 Hiff S
S >
W& LA A [EXEINES ¢ 170, 250
) =B A A PR 2 170, 250 0
iR s ik A e 170, 250 0
=B A WEEM 170, 250 0
R EAHEN B N i B PR 0. 07 170, 250 11,917
<N
& T A
) B AT A 1. 30 44, 000 57, 200
iR E ik i A 1.70 34, 300 58, 310
HEBT A 1.70 32, 200 54, 740
T EAHB) B A
& @ 170, 250 g 182, 167
EBNE
(L)
I
1,500 R 0. 00
ZE AL F o+ 1 1.00 HALY 720 182, 167
HEHRME Y 182, 100

o ] 5 R A SR



BT RAME X W4 i AFISEE-1 (B HUR)
ZZI X2 o B [EREYNGE ¢ (e HH 24 Hiff S
S >
W& LA A [EXEINES ¢ 81, 850
) =B A A PR 2 0 81, 850 0
iR s ik A e 0. 005 81, 850 409
=B A 1S 0 81, 850 0
W EAHB) B A i B PR 0. 07 81, 850 5, 729
<N
W& T A
T B A A 0. 50 44, 000 22, 000
iR E ik A 0.90 34, 300 30, 870
HEBT A 0. 90 32, 200 28, 980
T EAHB) B A
a @ 81, 850 g 87,988
EBNE
(L)
I
1,500 #E R 0. 00
ZE AL F o+ 1 1.00 HAIY 720 87, 988
HEEHRME Y 87, 980

o ] 5 R A SR



FRTHALE I EER W4 i AFISEE-1 (B HUR)
4 X2 o B [EREYNGE ¢ (e HH 24 Hiff S
S >
W& LA A [EXEINES ¢ 59, 850
) =B A A PR 2 0 59, 850 0
iR s ik A e 0 59, 850 0
=B A 1S 0 59, 850 0
R EAHEN B N i B PR 0 59, 850 0
<N
& T A
bilREE53H]] A
iR F ik i A 0.90 34, 300 30, 870
HEBT A 0. 90 32, 200 28, 980
T EAHB) B A
S 59, 850 g 59, 850
EBNE
PNGIE: P Tk i itk 2 ERTTUTAR oo R B | (E(kE)
0 0 0 0 3.5 0 Hieg 0.00
fER
ZE AL F o+ 1 1. 00 HALY 720 59, 850
HEHRME Y 59, 850

o ] 5 R A SR



FOSHAME  FTAEESE TR W4 i AFISEE-1 (B HUR)
4 X2 o B [EREYNGE ¢ (e HH 24 Hiff S
S >
iR e 5] A 0.50 51, 000 25, 500 [ERCYN LR ¢ 47, 500
) =B A A 0.50 44, 000 22, 000 B 2 0 47, 500 0
TR A4 A Mk 0 47, 500 0
=8+ A 1S 0 47, 500 0
R EAHBN B A i B PR 0 47, 500 0
<N
W& T A
bilREE53E]] A
iR E ik A
2B T A
TEAHB) B A
& @ 47, 500 g 47, 500
EBNE
(L)
I
R
ZE AL F o+ 1 1. 00 HALY 720 47, 500
HEHRME Y 47, 500

o ] 5 R A SR



=

FI0FHME AR RTAeE W4 i AFISEE-1 (B HUR)
4 X2 o B [EREYNGE ¢ (e HH 24 Hiff S
S %
iR e 5] A 0.50 51, 000 25, 500 [ERCYN LR ¢ 42, 650
) =B A N B 2 0 42, 650 0
TR L A4 A 0.50 34, 300 17, 150 Mk 0 42, 650 0
=8+ A 1S 0 42, 650 0
R EAHBN B A i B PR 0 42, 650 0
<N
B AT H A
bilREE53E]] A
iR E ik A
2B T A
RS TI=N A
& @ 42, 650 g 42, 650
EBNE
(L)
I
R
ZE AL F o+ 1 1. 00 HALY 720 42, 650
HEHRME Y 42, 650

o ] 5 R A SR



=

FILSHMME  FTAEE R AR W4 i AFISEE-1 (B HUR)
4 X2 o B [EREYNGE ¢ (e HH 24 Hiff S
S >
iR e 5] A 0.50 51, 000 25, 500 [ERCYN LR ¢ 47, 500
) =B A A 0.50 44, 000 22, 000 B 2 0 47, 500 0
TR A4 A Mk 0 47, 500 0
=8+ A 1S 0 47, 500 0
R EAHBN B A i B PR 0 47, 500 0
<N
W& T A
bilREE53E]] A
iR E ik A
2B T A
TEAHB) B A
& @ 47, 500 g 47, 500
EBNE
(L)
I
R
ZE AL F o+ 1 1. 00 HALY 720 47, 500
HEHRME Y 47, 500

o ] 5 R A SR



=

MI2GHME  EHEHERG KRR (RERUC L 55 6) A4 AABEHE-1 (IR
4 X2 g Hiff [EREYNGE ¢ (e HH 24 HiAf S
S >
& LA A [EXEINEE ¢ 85, 209
) B A A R 2 0 85, 209 0
iR s ik A Mk 0.014 85, 209 1,192
=B A 1 0 85, 209 0
R EAHBN B A bl egiibey 0 85, 209 0
<N
W& T A
T B A A 0.30 44, 000 13, 200
iR E ik i A 1.17 34, 300 40, 131
HEBT A 0.99 32, 200 31, 878
TEAHB) B A
a  F 85, 209 g 86, 401
EBNE
(L)
Hirik
AN
ZE AL F o+ 1 1. 00 HAIY 720 86, 401
HEHRME Y 86, 400

o ] 5 R A SR



=

MIBSHAME  EHEHERA KRR (RS LS5 6) A4 AABEHE-1 (IR
4 R X2 g Hiff [EREYNGE ¢ (e HH 24 HiAf S
S >
& LA A [EXEINEE ¢ 87, 526
) B A A R 2 0 87, 526 0
iR s ik A Mk 0.015 87, 526 1,312
=B A 1 0 87, 526 0
R EAHBN B A bl egiibey 0 87, 526 0
<N
W& T A
T B A A 0.30 44, 000 13, 200
iR E ik i A 1.20 34, 300 41, 160
HEBT A 1.03 32, 200 33, 166
TEAHB) B A
a  F 87, 526 g 88, 838
EBNE
(L)
Hirik
AN
ZE AL F o+ 1 1. 00 HAIY 720 88, 838
HEHRME Y 88, 830

o ] 5 R A SR



=

FlATHMME  LHFAERA e (LB (32) HFHAE) A {4 i AFIBAERE-1 (B HUR)
4 X2 o B [EREYNGE ¢ (e HH 24 Hiff S
S >
W& LA A [EXEINES ¢ 223, 384
) =B A A PR 2 0. 008 223, 384 1,787
iR s ik A e 0.011 223, 384 2, 457
=B A 1S 0 223, 384 0
R EAHBN B A i B A PR 0 225, 171 0
<N
) & AT EL A A 0.27 51, 000 13, 770
T B AT A 1.41 44, 000 62, 040
iR E ik i A 2.96 34, 300 101, 528
HEBT A 1.43 32, 200 46, 046
TEAHB) B A
& @ 223, 384 g 227, 628
EBNE
(L)
I
R
ZE AL F o+ 1 1.00 HAIY 720 227, 628
HEEHRME Y 227, 600

o ] 5 R A SR



=

F16HANR I HE R E ) W4 i AFISEE-1 (B HUR)
4 X2 o B [EREYNGE ¢ (e HH 24 Hiff S
S >
W& LA A [EXEINES ¢ 556, 830
k=< 534l A 3. 40 44, 000 149, 600 B 2 0.035 556, 830 19, 489
iR s ik A 3. 40 34, 300 116, 620 Mk 0. 065 556, 830 36, 193
WEB)F A 3.40 32, 200 109, 480 1S T 0 556, 830 0
R EAHBN B A b egiibey 0 576, 319 0
<N
W& T A
T =B A A 1.70 44, 000 74, 800
iR =Sk A 3.10 34, 300 106, 330
2B T A
TEAHB) B A
S 556, 830 g 612,512
EBNE
PNGIE: P Tk i itk 2 ERTTUTAR oo R B | (E(kE)
0 0 0 0 0 0 Hieg 0.00
R
ZE AL F o+ 1 1. 00 HALY 720 612,512
HEHRME Y 612, 500

o ] 5 R A SR



=

%5 16 SHAMEK R E B4R A1 (BIRUR)
% i oL R B [ & il C:d
Jic e A2 i A X 1 24, 143 24, 143| B2 A4, 311, 31119 X 0. 0056
N 2 24, 143
HRLER (D | oy

o ] 5 R A SR



EAVEER- N IE

A S
ek

£ At

KA T

HoOoffi 4R

DRI -1 (R UL

AL

FLYEE

SAPBITESR (1)

SAARBIAIIE =R (2)

A EAE (1)

MHIE=R (1)

MHIEER (2)

HIE (3)

HHIEfE (2)

Bt 55 Hiff

¥

&
2

EXER3 0]
el (A)
el (B)
el (C)
i (D)

EXER3 0]
el (A)
el (B)
el (C)
el (D)

EXER3 0]
el (A)
el (B)
el (C)
el (D)

== - == -

== -

CH ED
0. 50
0. 50
0. 50

<P (X %) >

<NZEGE)>

< AR >
0. 5000
0. 5000
0. 5000

0. 50
0. 50
0. 50

62, 200
55, 200
45, 300

31, 100
27, 600
22,650

81, 350

EBNE

(2 (L)

EeE + 1

HALY 720

81, 350

o ] 5 R A SR



185 il

A S
ek

£t

R A

HoOoffi R

DRI -1 (R HUR)

AL

FLYEE

SAPBITESR (1)

SAARBIAIIE =R (2)

A EAE (1)

MHIE=R (1)

MHIEER (2)

HIE (3)

HHIEfE (2)

Bt 55 Hiff

¥

&
2

EXER3 0]
el (A)
el (B)
el (C)
i (D)

EXER3 0]
el (A)
el (B)
el (C)
el (D)

EXER3 0]
el (A)
el (B)
el (C)
el (D)

== - == -

== -

CH ED
0. 50
0. 50
0. 50

<P (X %) >

<NZEGE)>

< AR >
0. 5000
0. 5000
0. 5000

0. 50
0. 50
0. 50

62, 200
55, 200
45, 300

31, 100
27, 600
22,650

81, 350

EBNE

(2 (L)

EeE + 1

HALY 720

81, 350

o ] 5 R A SR



195 Hh £

A S
ek

£t

R RAANAN

HoOoffi 4R

DRI -1 (R UL

AL

FLYEE

SAPBITESR (1)

SAARBIAIIE =R (2)

A EAE (1)

MHIE=R (1)

MHIEER (2)

HIE (3)

HHIEfE (2)

Bt 55 Hiff

¥

&
2

EXER3 0]
el (A)
el (B)
el (C)
i (D)

EXER3 0]
el (A)
el (B)
el (C)
el (D)

EXER3 0]
el (A)
el (B)
el (C)
el (D)

== - == -

== -

CH ED
0. 50
0. 50
0. 50

<P (X %) >

<NZEGE)>

< AR >
0. 5000
0. 5000
0. 5000

0. 50
0. 50
0. 50

62, 200
55, 200
45, 300

31, 100
27, 600
22,650

81, 350

EBNE

(2 (L)

EeE + 1

HALY 720

81, 350

o ] 5 R A SR



5205 Hifli £

A S
ek

(=S
DFE

[EErE

YRRk

HoOoffi 4R

DRI -1 (R HUR)

AL

FLYEE

SAPBITESR (1)

SAARBIAIIE =R (2)

A EAE (1)

MHIE=R (1)

MHIEER (2)

HIE (3)

HHIEfE (2)

Bt 55 Hiff

EXER3 0]
el (A)
el (B)
el (C)
el (D)

EXER3 0]
el (A)
el (B)
el (C)
el (D)

EXER3 0]
el (A)
el (B)
el (C)
el (D)

== - == -

== -

<H ED

<P (X %) >
0.38
0.38

<NZEGE)>

< AR >
0. 3800
0. 3800

0. 38
0.38

62, 200
55, 200

44,612

EBNE

(2 (L)

EeE + 1

HALY 720

44,612

o ] 5 R A SR



215 HAm

Y E O

Bl A

HoOoffi 4R

DRI -1 (R HUR)

AL

FLYEE

SAPBITESR (1)

SR IE =R (2)

A EAE (1)

MHIE=R (1)

MHIEER (2)

HIE (3)

HHIEfE (2)

Bt 55 Hiff

¥

&
2

EXER3 0]
el (A)
el (B)
el (C)
i (D)

EXER3 0]
el (A)
el (B)
el (C)
el (D)

EXER3 0]
el (A)
el (B)
el (C)
el (D)

== - == -

== -

CH ED
0. 50
0. 50
0. 50

<P (X %) >

<NZEGE)>

< AR >
0. 5000
0. 5000
0. 5000

0. 50
0. 50
0. 50

62, 200
55, 200
45, 300

31, 100
27, 600
22,650

81, 350

EBNE

(2 (L)

EeE + 1

HALY 720

81, 350

o ] 5 R A SR



A& D B 4 JE
e 1 Y O A OVEE C 70m A
22 - St vy
55225 B 2= A B TSR -1 (B
4 g BN FEHEE [ABEER O [AmBIMER Q| MIEE (D) | fIERQ) | HESRQ) | MERG) | #EMQ) [BIFE SN B
W) IE -~ THIFE

CH O ED < HNER >
ERERs ] A
Bl (A) A 0.29 0.5100 0. 80 0. 40 55, 200 22, 080
i (B) A 0.29 1. 2400 0. 80 0.99 45, 300 44, 847
el (C) A 0.29 1. 2100 0. 80 0.96 35, 600 34, 176
i (D) A 0. 1000 0. 80 0.08 31, 600 2,528

GEACTEESD
EREs ] A
Bl (A) A 0. 09
i (B) A 0. 60
el (C) A 0.54
il (D) A

<NZEGE)>
ERERs ] A
Bl (A) A 0.13 103, 631
Heh (B) A 0.35 FEHNE
el (C) A 0.38 (=)
i (D) A 0. 10

ZEAE + 1

BALY 720 103, 631

o ] 5 R A SR



AR pERRAR O Bl 4 E
R s DA TR OEE D
23 - St vy
552375 B 2= A B TSR -1 (B
4 i BN FEHEE [ABEER O [AmBIMER Q| MIEE (D) | fIERQ) | HESRQ) | MERG) | #EMQ) [BIFE SN B
CH ED < HNER >
EXERsal A 0. 0800 0.08 62, 200 4,976
Bl (A) A 0.13 0.3100 0.31 55, 200 17,112
i (B) A 0.13 0. 7900 0.79 45, 300 35, 787
il (C) A 0.13 0. 3400 0.34 35, 600 12,104
il (D) A 0.1700 0.17 31, 600 5,372
GEACTEESD
EREs ] A
Bl (A) A 0. 09
i (B) A 0. 50
el (C) A 0.21
il (D) A
<NZEGE)>
EXERsal A 0. 08
Bl (A) A 0.09 75, 351
Heh (B) A 0.16 FEHNE
el (C) A (=)
i (D) A 0.17
ZEAE + 1
BALY 720 75, 351

o ] 5 R A SR



AR pERRAR O OOl 4
s 11 s Y O FAE AU A
H24% Bl SRS (B EUR)
4 i BN FEHEE [ABEER O [AmBIMER Q| MIEE (D) | fIERQ) | HESRQ) | MERG) | #EMQ) [BIFE SN B
BT 2 bk i

CH O ED < HNER >
EXERsal A 0.23 0. 5900 0. 70 0.41 62, 200 25, 502
Bl (A) A 0.23 0. 8700 0. 70 0. 60 55, 200 33, 120
i (B) A
el (C) A
i (D) A

GEACTEESD
EREs ] A
Bl (A) A 0.41
i (B) A
el (C) A
i (D) A

<NZEGE)>
EXERsal A 0. 36
Bl (A) A 0.23 58, 622
i (B) A KHNH
el (C) A (=)
i (D) A

ZEAE + 1

BALY 720 58, 622

o ] 5 R A SR



bt TAE) D O A
e 1 Y O A OVEE ST TAEW
25 - St vy
552575 B 2= A B TSR -1 (B
4 i BN FEHEE [ABEER O [AmBIMER Q| MIEE (D) | fIERQ) | HESRQ) | MERG) | #EMQ) [BIFE SN B
CH ED < HNER >
ERERs ] A
Bl (A) A 0.13 0. 3700 0.37 55, 200 20, 424
i (B) A 0.13 0. 3400 0.34 45, 300 15, 402
el (C) A 0.13 0. 9400 0.94 35, 600 33, 464
i (D) A 0. 1500 0.15 31, 600 4,740
GEACTEESD
EREs ] A
Bl (A) A 0.12
i (B) A
el (C) A 0.61
il (D) A
<NZEGE)>
ERERs ] A
Bl (A) A 0.12 74, 030
Heh (B) A 0.21 FEHNE
el (C) A 0.20 (=)
i (D) A 0.15
ZEAE + 1
BALY 720 74, 030

o ] 5 R A SR



=

25265 Hifi £

HEZ OO

AL

Bl A

HoOffi 4R

DRI -1 (R HUR)

AL

FLYEE

SAPBITESR (1)

SAARBIAIIE =R (2)

A EAE (1)

MHIE=R (1)

MHIEER (2)

HIE (3)

Bt 55 Hiff

2
TN

EXER3 0]
el (A)
el (B)
el (C)
i (D)

EXER3 0]
el (A)
el (B)
el (C)
el (D)

EXER3 0]
el (A)
el (B)
el (C)
el (D)

== - == -

== -

<H ED

0. 26
0. 26

<P (X %) >

<NZEGE)>

< HAEEEE >

0. 2600
0. 2600

0. 26
0. 26

55, 200
45, 300

14, 352
11,778

26, 130

EBNE

(2 (L)

EeE + 1

HALY 720

26, 130

o ] 5 R A SR



=

HEZ OO HEICET D WOl 4
st A A OVEE HIEA
275 " . e rn
BE27 5 B 2= A B TSR -1 (B
4 i BN FEHEE [ABEER O [AmBIMER Q| MIEE (D) | fIERQ) | HESRQ) | MERG) | #EMQ) |[BIFES AN B
5 X5y

CH OED < HNER >
ERERs ] A
Bl (A) A 0.57 2.1100 0. 80 1.68 55, 200 92,736
i (B) A 0.57 3.6100 0. 80 2.88 45, 300 130, 464
el (C) A 0.57 4. 4900 0. 80 3.59 35, 600 127, 804
i (D) A 0. 4500 0. 80 0.36 31, 600 11, 376

GEACTEESD
EREs ] A
Bl (A) A 0.94
i (B) A 1.43
el (C) A 3.92
il (D) A

<NZEGE)>
ERERs ] A
Bl (A) A 0. 60 362, 380
Heh (B) A 1. 61 FEHNE
el (C) A (=)
i (D) A 0.45

ZEAE + 1

BALY 720 362, 380

o ] 5 R A SR



=

HEZ OO FEEICET 5 BOfli 4 E
g A AN OVRLE = 50 i A
2845 " . e rn
552875 Hfi £ A B TSR -1 (B
4 i BN FEHEE [ABEER O [AmBIMER Q| MIEE (D) | fIERQ) | HESRQ) | MERG) | #EMQ) |[BIFES AN B
PR AR

CH OED < HNER >
ERERs ] A
Bl (A) A 0. 0200 0. 80 0.01 55, 200 552
il (B) A 0.13 0. 2000 0. 80 0.16 45, 300 7,248
il (C) A 0.13 0.3100 0. 80 0.24 35, 600 8, 544
i (D) A 0. 0600 0. 80 0. 04 31, 600 1, 264

GEACTEESD
EREs ] A
Bl (A) A
i (B) A 0.04
el (C) A 0.12
il (D) A

<NZEGE)>
ERERs ] A
Bl (A) A 0. 02 17, 608
Heh (B) A 0.03 FEHNE
el (C) A 0. 06 (=)
i (D) A 0. 06

ZEAE + 1

BALY 720 17, 608

o ] 5 R A SR



=

5529 75 Hif 2

HEZ OO

AL

Z DOfthBEEIC

B3 o 5E

RSy

HoOffi 4R

DRI -1 (R HUR)

Z

AL

FLYEE

SAPBITESR (1)

SAARBIAIIE =R (2)

HHIEAE (1)

MHIE=R (1)

MHIEER (2)

FHIE=R (3)

MIEAE (2)  |Beil 55 HL A

2
TN

EXER3 0]
el (A)
el (B)
el (C)
el (D)

EXER3 0]
el (A)
el (B)
el (C)
el (D)

EXER3 0]
el (A)
el (B)
el (C)
i (D)

== - == -

== -

CH ED

<P (X %) >

<NZEGE)>

0.04
0. 06
0. 52

< HAEEEE >

0. 0400
0. 0600
0. 5200

0.04
0. 06
0.52

55, 200
45, 300
35, 600

2,208
2,718
18,512

23, 438

EGNE

(2 (L)

AL + 1

HALY 720

23, 438

o ] 5 R A SR



=

553075 Hiflfi 2

HED

A

HEAA
(53]

HRWAES
2D

HoOffi 4R

DRI -1 (R HUR)

AL

FLYEE

SAPBITESR (1)

SR IE =R (2)

HHIEAE (1)

MHIE=R (1)

MHIEER (2)

FHIE=R (3)

MIEAE (2)  |Beil 55 HL A

2
TN

EXER3 0]
el (A)
el (B)
el (C)
i (D)

EXER3 0]
el (A)
el (B)
el (C)
el (D)

EXER3 0]
el (A)
el (B)
el (C)
el (D)

== - == -

== -

CH ED

0. 06
0. 06

<P (X %) >

0.09
0.13

<NZEGE)>

< HAEEEE >

0. 1500
0. 1900

0.15
0.19

55, 200
45, 300

8, 280
8,607

16, 887

EBNE

(A=)

AL + 1

HALY 720

16, 887

o ] 5 R A SR



=

%31 SHMR  RERWmE B4R AFISERE-1 (BER)
4 g BN ¥ = H iff 4 % ] =
B EE = 1 69, 970 69, 970|[E. 42 A %3, 663, 39419 X 0. 0191
& i 69, 970

o ] 5 R A SR



	2.総括
	5.測_旅費
	7.測_電子
	16.調_材等
	17.調_旅費
	19.調_間接
	3.測_単価
	14.調_単価

